
54

BACK
Using 4½mm (US 7) needles cast on 111 [115: 119: 123: 129: 
135: 139: 145] sts.
Beg with a K row, work in st st throughout as folls:
Work 12 rows, ending with RS facing for next row. 
Change to 5½mm (US 9) needles.
Cont straight until back meas 43 [43: 42: 45: 44: 46: 45: 47] cm, 
ending with RS facing for next row.
Shape armholes
Cast off 2 sts at beg of next 2 rows. 
107 [111: 115: 119: 125: 131: 135: 141] sts.
Dec 1 st at each end of next and foll 2 alt rows. 
101 [105: 109: 113: 119: 125: 129: 135] sts.
Cont straight until armhole meas 22 [22: 23: 23: 24: 24: 25: 25] cm, 
ending with RS facing for next row.
Shape back neck and shoulders
Next row (RS): K42 [44: 46: 48: 50: 53: 55: 58] and turn, 
leaving rem sts on a holder. 
Work each side of neck separately.
Cast off 3 sts at beg of next row.
Cast off rem 39 [41: 43: 45: 47: 50: 52: 55] sts.
With RS facing, rejoin yarn to sts on holder, cast off centre 
17 [17: 17: 17: 19: 19: 19: 19] sts, K to end. 
42 [44: 46: 48: 50: 53: 55: 58] sts.
Complete to match first side, reversing shapings.

LEFT FRONT (knitted sideways, beg at front opening edge)
Mix beads together and then thread 64 [64: 64: 66: 66: 68: 68: 70] 
beads onto yarn. (Mixing beads together before threading them 
onto yarn should mean that bead colours are randomly placed 
on yarn.)
Using 5½mm (US 9) needles cast on 128 [128: 128: 133: 
133: 137: 137: 140] sts.
Row 1 (WS): K1, slide bead up next to st just knitted (so 
that bead “sits” between sts), *K4, slide bead up next to st just 
knitted (so that bead “sits” between sts), rep from * to last 
3 [3: 3: 4: 4: 4: 4: 3] sts, K3 [3: 3: 4: 4: 4: 4: 3].
Row 2: K1, P to last st, K1.
Row 3: K3, slide bead up next to st just knitted (so that bead 
“sits” between sts), *K4, slide bead up next to st just knitted (so that 
bead “sits” between sts), rep from * to last 1 [1: 1: 2: 2: 2: 2: 1] sts, 
K1 [1: 1: 2: 2: 2: 2: 1].
Row 4: K1, P to last st, K1.
Row 5 (WS): K1, P to last st, K1.
Row 6: Knit.
Last 2 rows set the sts for rest of left front – first and last st of 
every row worked as a K st with all other sts in st st.
Keeping sts correct as now set throughout, cont as folls:
Cont straight until left front meas 34 [36: 37: 38: 40: 42: 43: 44] cm, 
ending with RS facing for next row.
Next row (RS): K to last 10 sts, M1 and turn, leaving rem 10 sts 
on a holder (for back neck border extension). 
119 [119: 119: 124: 124: 128: 128: 131] sts.
Cont straight until work meas 21.5 [23: 24: 25: 26: 28: 29: 30.5] cm 
from sts left on holder, ending with WS facing for next row. 
Shape armhole
Cast off 36 [36: 37: 37: 39: 39: 41: 40] sts at beg of next row, then 
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Size
	 8	 10	 12	 14	 16	 18	 20	 22	

To fit bust
	 81	 86	 91	 97	 102	 107	 112	 117	 cm	  
	 32	 34	 36	 38	 40	 42	 44	 46	 in	

Yarn 
Kid Classic

	 9	 10	 10	 11	 11	 12	 12	 13	 x 50gm	
(photographed in Bitter Sweet 866)

Needles
1 pair 4½mm (no 7) (US 7) needles
1 pair 5½mm (no 5) (US 9) needles

Beads
2 packs of Swarovski Classic Crystal Selection 9825101-00011

(each containing 25 x 8mm faceted crystal beads)

2 packs of Swarovski Black Diamond Selection 9825101-00014
(each containing 25 x 8mm faceted crystal beads)

 2 packs of Swarovski Light Topaz Selection 9825101-00015
(each containing 25 x 8mm faceted crystal beads) 

Note: If using all one colour of beads, you need 
128 [128: 128: 132: 132: 136: 136: 140] beads in total – 6 packs. 

Tension  
18 sts and 23 rows to 10 cm measured over st st 

using 5½mm (US 9) needles.

Note for beads: See information page for details of how to work 
with beads.

R O W A N

Swarovski Evening Pattern Section.indd   54 06/09/2015   11:18




